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(1) Anempr all questions.
v v @ gnv Mooy

(it) Write your roll number on question paper before start writing answer of questions.
m#m%w:}#ga‘mﬁwmmm%@w

1. Answer the following questions in short - [9x1=9]
Frfaflg gvlf & v adg 7 S —
(1) What are Okazaki fragments?
HTATH] THS F°T &7
7 If @ 100 million base pairs long double-stranded DNA contains

20% thymine, calculate the total number of hydrogen bonds in that DNA?
(1 mullion base pairs = 10° base pairs)

afe 100 faferm (million) T4 &= (base pairs) @d BYws@ (double
stranded) STAY. H 20% a3 &), @) 99 QAL § @gga a9
(hydrogen bonds) ® @l wiwn & o & (1 BRwE g ars
=10" I HRE)

f':"

(i) Genetic codes were cracked using in virro translation of artificial mRNAs.
If an antificial mRNA is polymer of (AC)n, then how many types of
amino acids will be present in the wanslated proten? (A=Adenine,
C=Cytosine, n=number)

q,-[-aq mRNA 1 S afkama (in vitro) ST (ranslation) g
ARG BTS B1 g e ) AR oow B mRNA, (AC) an
aEAD €L Al sifafaa wide A e yar @ i g MoE s

(A= Ademne, C= Cytosine, n=number)
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(1v)  What is the function of promoter?
THieY & s w27
(v) Write the names of three steps in a PCR reaction
R A IR (PCR) 3 4 &1 ara A= o B A Py
(vi)  What 1s micropropagation?
gEuaE aar #7
— (vii)  What is toupotency?
— qererEmdl (totipotency) T &7
- (‘m}J Write the names of two scientists who formulated a plang tissue culture
- medium in 19627
wﬁﬂmﬁﬁa}ﬂmﬁrﬁqﬁﬁ#mzﬁmmmL@ e
~ AR g a1 - RS MNeds e Flubasdvwhe < E:i-‘ﬁa
“Tix)  What will be the effect on expression of Lac operon if operator sequence -
7 gets mutated?
afe #fa¥eY M4 (operator sequence) ¥ ITRTTT & WA @ Im
TR (Lac operon) &1 AIfNafdd (expression) 0% 79T Torg gy
- UNIT-1 / g18-1
j - Describe in detail the structure of DNA. [3+3=6)

= 'eﬁqaq P AGYE @ favaR | avfq av

OR /3yar

Describe Meselson Stahl experiment in detail. [3+3=0)
T TR WA B AR § avf oy

UNIT-II / g18-H1

Describe the process of Eukaryotic transcrption. [3+3=6]
~ mftfen FIREEeE (transcription) &1 Gfian @1 g &9 |

OR / 3perqr

Wiite short note o the following - [3+3=6]
it u s fu R

d)

hj

Allenuglion and antiterminatjon

E!”‘]T-i I’,.‘n.‘T rT-".—’T,-lﬁ? ]?Ff

dse and its application

e Hrﬁim—f’ TSI g sy
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Write short note on the following

Y e w e e fd 134+3-4)
a) Aseptic culture fechnique
vRfted Heaw dHNE
b) Applications of plant tissue culture
qrE Had waHd @ I
OR /3@
Describe protoplast isolation and its culture, (3436)
greveee g AR WaHe @l v e |
UNIT-IV / g@1g-1V
g, Give a detailed account of any three vectors used for gene transfer. (242426
e wrATw @ fog W 2 aret fd 1 @l (vectors) @1 favge faawor
A |
: OR /e
; Describe application of biotechnology and transgenic plants. (3+3-6]
g i ol giaoife ol B SEIERT B avid B
T hd 2 Vecoim
A 6
At - ;J;E Te
Flev
Tinawr enllvte
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